24






10
11
12



10
11
12
13
14
15
18
19
20
21
22
23
24
25
26
27
28
29
30
31
)
33



2 090

(Y

(B

45

13

2 M



(P

( 1)0

( 1)1

(D2
( 1)3

(D4
( 15

(16)

(17)

(18)

(19)
(20)
(21)

(22)

(23)

12

13

12

49



(1)

(2

(B

(¥

(1

(2

(B

(¥

(5

(P

23 3 30

1 1 093040 )



(Y

(B

(1)
(2)
(3)
(4)
(5

(6)

(7)
(8)
(9)
(10)
(11)
(12)
(13)

12 110
12
2009
201 2009
24 27

10



27

27
25
19 21 25 27 21
a)
10 9 99. 10 Lo 08
b) 10 10 10 Lo 08
0) 8 83. 8 05. 97 08 80
d) 8 83. 8 05. 08 99 95
e) 9 12 8 06. 03 95 85
HI
) 12 174.33 352  — _ -40
20
9) 9 57. 9 28, 94 95 95
h) 7 04 8 79. 87 90 90
2 09 27




(1

(2

(B

(1

(2)



(1

(2

(B

(%

13

(1

25

27

12



(1

(2

(1

(2

(1

(2

11

15

11

12

(JWNET



(1

27

(2

10

11

12
(1

(2

(1)

(1)

24

10

25
10



20 RN/ m2

5 BN/ m2

Py

e e e e e e e =

(

10

N,




NO
(1) )
( 12 )(
)
10 1
NO l 8 9
NO

11



12




€T

0m

1,000kg
1,000kg 10
12
13 13
10m
1,0 0kOg
1,0 0kOg 10n
11
10
12
18

12
14

104

17




T

0m

1,000kg
10
1,000kg 10m
12
13 1 13
10m
1,0 0kOg
10
1,0 0kOg
10m
11
10
12
18
12 104
14 17







00000




25

27

17

80

25

27

10

500

50






8T

11

TEL

TEL

FAX

®)

B/ A* 100

( 3
( 3
« 3 L
: ms
- m
kg -
kg :
kg .




2 e 2 e

2 e 2 e
£ E|E|E E|E|E E|E|E EIE|E|E|E E|E E|E|E E|E|E E|E|E E|E|E
-~ “ ™ “ o~

m

m

m

m

m

m

19




0¢

18

H2 0

TEL

TEL

FAX

®)

B/ A* 100

( 3
( 3
« 3 L
: ms
- m
kg -
kg :
kg .




2 e 2 e
2 e 2 e

£ E|E|E E|E|E E|E|E EIE|E|E|E E|E E|E|E E|E|E E|E|E E|E|E
o~ “ ™ “ |~

m

m

m

m

m

m

21




|

x 10

E|E
E|'E
E|E
E|'E

1,000kg

10

)/ x10)

+ o+ o+

(

x 1 0)

E[E|'E|'E|E|E
E|'E|E[E|E|E
E[E|E|'E|E|E
E|'E|E[E|E|E
E[E|'E|'E|E|E

10

1,000kg

10

22



(

)

23




12

24



A4

O

O

O

O

25



A4

26



A4

oo

O

O

O

O

O

27



28




29



30



31




O

1

32




12

33



